log[sensitivity]

logVo = —0,35[iy—Uss7]?
logVa= logVo +0,00
flog [Vo, La Mz, ]

logLo = -0,35)—Us7q

logM o= —0,35Li\—Us4:]2

logLa= logLo+0,02

logVl2 = log M +0,02
uy=(A-550)/50

log[saturation]

logVo
logVa

l0g [Vo/Vo,La/Vo,Va/Vo,]
Ma

logLo = —0,35u)~Us7d
logM o= —0,35[y—Us4:] 2
logLa= logLo+0,02
logV2=logM-+0,02
La saturation V

= —0,350~Uss7?
=log Vo +0,00

L:M
=1:1

: EGETIEGN]
. L&M: 557
: ts=0.1

' " L0=-002La=-0&
1 Vp=-0,00 Va=-0,@
1 Mo=-0,02 Mg=-0,&
1

1

570 495Ec  565EC

1

-1+

L:M EGETIEG]
=11 L&M: 557

Ntszo.l

=

1
1
1
1
545: :570 495Ec  565EC

500 600Ad/nm 700xc 400

CER10-1A
log[sensitivity] logLo = —0,35L)\~Us7q
logVo = —0,35[iy—Uss7]? logM o= —0,35[i\—Us4:]?
log  =-0,35Uy-u ]%+0,02logLa= logL ¢+0,02
logVl2=log M +0,02
uy=(A-550)/50
L:M:S adaptation
=1:1:1 J.&M: 557
i
Lo=-0,02 Lg=-0,&
Vop=-0,00 Va=-0,@
Mg=-0,02 Ma=-0,&
Sg =-1,77 S =-1.7
495Ec  565EC

400

CER10-2A
log[sat
logVo
log

log [Vo/Vo,La/Vo,M4/Vo, V] log
Sa Ma La

1

=il

500 600Aq/nm 700xc 400

turation] logLo = —0,35\~Us7q
= —0,350)—Uss7? logM o= —0,35[y—Us4:]?
=-0,350)-u ]2+0,02logL a= logLo+0,02
= log M »+0,02
saturation V
L:M:S adaptation
=1:1:1 ).&M: 557

P ts01
1

_—= =

1
1
1
{
445 545:

570 495Ec  565EC

500 600Ad/nm 700xc 400

CER10-3A
log[sensitivity] logLo = —0,350\—Us7d
logVo = ~0,35l-Ussd?  logMo= ~0,35[~Uss]?
log =-0,350)-u ]%-1,17logLa= logLo+0,17
logVz=logM-—0,13
uy=(A-550)/50
L:M:S adaptation
=16:8:1 L&M: 557
=0.1

o.

Vp=-0,00 Va=-0,&
Mo=-0 42 Mg=-0,17
So= 1,77 Sa =28
495~c

o
>

565EC

1

1

1

1

1 — 2 =

1 Le=-0102 L3 =0,13
1

1

1

1

[ ST

570

400
CER10-4A

log[saturation]

logVo
log

log [Vo/Vo,La/Vo,M4/Vo, V] log
Sa Ma La

500 600Aq/nm 700xc 400

logLo = —0,35)\~Us7q
= —0,350)—Uss7? logM o= —0,35[y—Us4:]?
=-0,350)-u ]%-1,17logLa= loglLo+0,17
=logMV--0,13

saturation V
1 1

-14

L:M:S adaptation
- =16:8:1 L&M: 557

—— e

570 4957-c  565EC

400

CER10-5A
log[sensitivity] logLo = —0,350\—Us7d
logVo = —0,35[-Uss]2  logMo= ~0,3501-us.]?
log  =-0,35Uy—u ]%+0,02logLa= logL¢+0,17
llog Vo, La, Mz, ] logM 2= logV-0,13
uy=(A-550)/50
L:M:S adaptation
=4:2:3 |.&M: 557

500

600Ad/nm 700xc 400

g
Lo=-002 L3=0,13
Vp=-0,00 Vg=-0,a
M@=-0,02 Mg=-0,17
S0 =-1,77 S =-1.1
70 495Ec  565EC

|
FEaaENEEE [0

ey
(6]

CER10-6A

log[saturation]

logVo
log

|09 [Vo/VO,La/Vm

500 600Ad/nm 700xc 400

logLo = —0,35)\~Us7q
= —0,350—Uss7? logM o= —0,35[y—Us4:]?
=-0,350)-u ]%+0,02logL a= loglL+0,17
No, Vo] logViz=logMV—0,13

saturation V
! N L:M:S adaptation
I i =4:2:3 ).&M: 557
1

——r e

Sa

q ¥
1 ]
1 ]
1 (]
1445 154570 495Ec  565EC

400
CER10-7A

600Ad/nm 700c 400

400
CER10-8A

500 600Aq/nm 700xc 400




